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I, , agree to neither give nor receive any help on this exam from
others. I understand that the use of a calculator or communication device on this exam is
academic misconduct. I also understand that providing answers to questions on this exam to
other students is academic misconduct, as is taking or receiving answers to questions on this
exam from other students. Thus, I will not expose my answers to other students. It is important to
me to be a person of integrity and that means ALL ANSWERS on this exam are my answers.
Any violation of these guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

Binary Choice Questions (9 questions worth 1 point each)

1. The government implements an excise tax in a market where the demand curve is relatively
more elastic than the supply curve. Given this information and holding everything else constant,
you conclude that the:

a. Consumer tax incidence from the implementation of this excise tax is greater than the producer
tax incidence from the implementation of this excise tax.

b. Producer tax incidence from the implementation of this excise tax is greater than the consumer
fax incidence from the implementation of this excise tax.
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2. Suppose that a market is closed to trade and the world price for this good is currently greater
than the closed market price for the good. Given this information and holding everything else
constant, if this market opens to trade, then:

a,/Domestic Producers will benefit from this change in the market.
b. Domestic Consumers will benefit from this change in the market.
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gal’\é' G T 3. Suppose that a market is open to trade and that a tariff has been placed on this good. If this
THo tariff is effective in this market, we know:

/@That the tariff price must be less than the equilibrium price if this market is a closed economy

and greater than the world price if this market is an open economy. Trul

b. That the tariff price must be greater than the equilibrium price if this market is a closed ﬁ'l St
economy and less than the world price if this market is an open economy £,4 , .

Mé 4. Consider a firm that has the following demand curve for its product where Q is the quantity of
mdé HT units and P is the price per unit:

Market Demand: Q = 500 — (5/2)P

Currently in this market 274 units are being sold. If the firm’s only goal is to increase its revenue
you would advise this firm to:

a. Raise the price of the good to as high a level as possible. = iF P=200 Then @ = O VM= *0O
Sell no more than 250 units of the good. —> ¥ &d=282 71 “\WMV /

/ S pSW-@
pe 2fov-@]

fov f// 25 — %’;@

d

—T

e M s

DgF,\[ . 5.When the price of the good increases holding everything else constant, we know that the
individual’s purchasing power has:

@Decreased.

b. Increased.



N Or 6. The City of Elvira finds that its metro bus system is not covering its total costs of operation.
A’ﬂD The City of Elvira knows that the price elasticity of demand for bus rides is 2.38. Given this
H’ information and holding everything else constant, the City of Elvira can reduce its losses by:

D \
a. Increasing the price of each bus ticket. é = 2. 3 Y L 70 4(9 - D Lo ML
@ Decreasing the price of each bus ticket. 9, AP
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N{'}r 7. Joe is currently selling 50 T-shirts per day at his business. He plans to have a sale on Saturday

‘FA’WJ) where T-shirts are sold at 25% off their original price. He knows that his cross price elasticity of

f demand for T-shirts and shorts is equal to -1.5, and his price elasticity of demand for T-shirts is
equal to 4. Given this information and holding everything else constant, you predict that Joe will

sell:
L = ?a A r- sty { D&
@100 T-shirts on Saturday. é}( 7 - / §- /s {rbc;Jﬁ’lff
b. Approximately 69 T-shirts on Saturday. 7" a r s Ao, / .76
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§oM € 8. Ifthe average total cost of producing a good is greater than the marginal cost of producing the
17 0 U6 HT next additional unit of the good, then:
he average total cost is decreasing as output increases.
b. The marginal total cost of producing an additional unit decreases as output increases.
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N ol 9 Consider a perfectly competitive market that is currently in short run equilibrium. You are told
/’(ﬂD that the market price is greater than the representative firm’s ATC at the current equilibrium.
H’ Given this information and holding everything else constant, you predict that in the long run:

he market supply curve will shift to the right. N ~ ==, ¢
b. The market supply curve will shift to the left. (n ‘SK / '7L P ;/T‘}/ C =
>0
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Multiple Choice Questions (30 questions worth 3 points each)

10. Demand for good X is given by the following equation where P is the price per unit and Q is
the number of units of the good:

P=12-Q

Given this information and holding everything else constant, which of the following statements
is a true statement?

b. Price elasticity of demand between P =10 and P = 11 is less than one. X
¢. Price elasticity of demand between P = 10 and P = 11 is equal to one. X

@Price elasticity of demand between P =4 and P = 5 is less than one. /
t
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a. Price elasticity of demand between P = 4 and P = 5 is more than 0ne./< (‘M V.L f-jh; JC“‘"‘
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Use the table below to answer following THREE (3) questions.

L is labor, K is capital, MPL is the marginal product of labor, FC is fixed cost, and TC is total
cost. You are also told that the price of a unit of labor is $200.

L [K _Jo [mp. [FC [TC |Y¢ T< ~

0 (4 [0 |- $200 [$200 | O Mt /‘\/Q
1 |4 |6 200 |F 200 E=4W® AL
3 4 12 200 60v

6 |4 |18 200 [P o (=0 my

11. Which of the following represents column MPL?

a. @
MPyL HMPL

400

6 6
4 3
3 2

b. d.
MPy MPL
6 1.5
12 3
18 4.5

A)12. Recall that the price of a unit of labor is $200. Given this information and holding

everything else constant, what are the values for F and P is the above table?

a. F=$200; P = $800

F = $200; P = $1200
= $4007P = $1400""

. F=2$400; P =$1200

13. Suppose this firm produces 12 units of the good and sells each unit of the good at a price of
$100. Given this information and holding everything else constant, what is the firm’s profit?

Lo - ped= () A
c. $800 ¢ = FLeve= 200+ 60V =¥0D
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}b,v]g 14. Suppose UW-Madison starts paying all of its enrolled students the same scholarship every

P _month. That means all enrolled students’ incomes increased. As a result of this scholarship

[ RoUGHT payment, the demand for bus rides in Madison decreases. Given this information and holding
everything else constant, which of the following statements is true about bus rides in Madison?

v
a. Bus rides are an inferior good for UW-Madison students and the income elasticity of demand

is a positive number.
b. Bus rides are a normal good for UW-Madison students)g.nd the income elasticity of demand is

a negative number.
¢. Bus rides are a normal good for UW-Madison students’and the income elasticity of demand is

ositive number.
Bus rides are an inferior good for UW-Madison students and the income elasticity of demand

is a negative number.
Inc TI Qlourrit b = Pusrides :\oéw,w W
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§OM ¢ 15. You are told the following information:

WoRk I

o The price of good Y increases by half its original amount;
e The cross-price elasticity between good X and good Y is -1/2; and
e The initial quantity demanded of good X is 4 units.

Given this information and holding everything else constant, what is the quantity demanded of
good X after the change in good Y’s price?

a. 1 unit of good X will be demanded after the change in the price of good Y

.2 units of good X will be demanded after the change in the price of good Y
¢.)3 units of good X will be demanded after the change in the price of good Y
d. 5 units of good X will be demanded after the change in the price of good Y

Z% :Iffn‘fb%;f/,’(@ﬁ _ (R -L
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Use the following information to answer the next THREE (3) questions:

Consider the following graph depicting Megan’s budget line, BL, and two of her indifference
curves, IC1 and IC2. Point B represents where the budget line, BL is tangent to the indifference
curve IC1. The indifference curve IC2 intersects the budget line BL at Point A and Point C.
Assume that Megan has income to be spent on good X and good Y and that the price of good Y
is $3 per unit.
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P{WM‘ %- 16. Given this information and holding everything else constant, which of the following
d i jadivhr statements is true?
Wu H

a. The bundle of goods X and Y at Point A is preferred by Megan over the bundle of goods X
h and Y at Point B. No , P faom 4 lowalC

ou b. There are an infinite number of indifference curves that include the bundle of goods X and Y
(4) atPointC. No There 7 gws [C fiod goeoThranghpt C

¢. Megan could have greater utility if she chooses a different bundle of goods X and Y than that

depicted at Point B. N, pt /3 in o 42 1€ Juat ey bad getlin i gy mane her uh 'Wy
@At Point A, the marginal utility of Good X is greater than the marginal utility of Good X at
Point C.
Hrpat A 7 Mgrat
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17. Given this information and holding everything else constant, which of the following
statements is true?

a. Megan’s income is $1%ﬂd the price of Good X is $(1/3) per unit.
Megan’s income is $10 and the price of Good X is $1 per unit.
é:)\/legan’s income is $30 de the price of Good X is $1 per unit. v/
d. Megan’s income is $30and the price of Good X is $(1/3) per unit.

£ e = #30 4 Megan only boys 509 X the
70ty = Ia
WW ° ﬁwx:?O
30 =50
Pl

prne ]l = F

18. If Megan’s income is cut in half, the marginal rate of substitution (that is, the slope of the
indifference curve) of Good X for Good Y at her optimal consumption bundle is:

a.-1/6
13 .
e, -2/3 Ihoome "= 15
d. 312



Use the following information to answer the next FOUR (4) questions:

Consider a fictional country, Metallia, which produces titanium. The domestic demand and
supply for titanium are given by the following equations where Q is the quantity of pounds of
titanium and P is the price per pound of titanium:

30-/= &Y

Domestic Demand: Q =30 -P 30 < 3P
Domestic Supply: Q = 2P s P

The price is measured in dollars per pound of titanium. Suppose that Metallia’s titanjum market
is open to international trade so that people can buy and sell unlimited quantities of titanium
from abroad. The world price of titanium is $6 per pound of titanium.

The government is considering the following two policies to deal with the repercussions of an
open economy in this market:

Policy 1: Imposition of a tariff of $2 per pound on titanium in this market.
Policy 2: Imposition of an import quota of 9 pounds of titanium in this market.

19. Given this information and holding everything else constant, which of the following
statements is true about the titanium market in Metallia when this market is open to international
trade and there is no government policy intervention?

5 A
a. If this market opens to trade, consumers will be@%&%ﬁme the domestic quantity supplied
will fall to 12 pounds from the closed economy le 20 pounds. Fa{ 22

@If this market opens to trade, then imports will account for half of the quantity demanded in

he market. Qdow=12 Q°F 21  [mpoli= Q°-(Q'= 29-122/ 2 Toaia 4
c. If this market opens to trade, the price in the market will be $6 per pound‘ﬁ‘}d domestic
consumers will consumg 12 pounds of titanium. M conSunmert will Cofemce zg/aww( .'*’/%/ 24
d. If this market opens to frade, the country will@wﬁtaﬂium and domestic consumers will
o

consume 24 pounds of titanium. 73 /g 7}47 wrl f“*y‘oﬁ‘ 8 Sk ot = (0P
aweh

- So0-F
(’mtl’b 2P F 3';;;2:;
Csfd/°f" T«Fh
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SomE  20. Suppose the government decides to implement Policy 1, a tariff of $2 per pound of titanium.
wo K Given this information and holding everything else constant, what is the government’s revenue
from the implementation of this tariff?

a. $6 - @pﬁ/{/ﬂf?’) (#'Oaaw }I/h‘}aij

b.$ 8 ﬁwh‘%w

o @z/um?'jcz’?"/éj
= 4/2

MORE 21. This question asks you to compare the outcomes from Policy 1 to the outcomes from Policy
Wi 2K 2. Given this information and holding everything else constant, which of the following
statements is true?

a. License Holder Revenue with Policy 2 is greater than Government Tariff Revenue with Policy

1. False

b. Policy 1 results in consumers consuming more units of the good than does Policy 2. Fa[se

¢. Consumer surplus increases by $15 when the government switches from Policy 1 to Policy 2.
he value of producer surplus under Policy 2 is smaller than the value of producer surplus

tunder Policy 1. (}/ﬂw{? e [ee j,z,_/q,{
vy ! Ay > L) = A
ww/:ng?m: 7/2 it 110 = (B-C) (2317
g’ mess Conoime 727 @4Mamr Conleeme 2.3
i vhi?T b | :é’(?a-’}-)('zs_)
CS= -%_(30-8)(‘*-")"”(2‘2) vs. a;écm)(n)
Us Lot /) math heng — | deciled e iff Feserm 2 s

MnE 22, When comparing Policy 1 and Policy 2, what is true about the welfare implications of these

wor /¢ two policies? OhV1Ynily fowl anSeer D ~Frerena. ! Anrtre [d) ‘//

a. Policy 1 has a same effect on consumer surplus, producer surplus and deadweight loss as
Policy 2, with the only difference being that government revenue npw becomes license holder
revenue to the importers who have the right to import the good. A/; y Egilre drea s
Policy 1 results in less overall deadweight loss than Policy 2. Mo, Conmpmne ayead
olicy 1 results in a deadweight loss of $6 while Policy 2 results in a deadweight loss of

$l.50

d. All of the above statements are true about the welfare implication of these two policies.

Ywt Pt /
pwL= é(f?Z)[/é«/L)/— 5f 3-C)(7-2)
17‘/' 2 =~
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A um'g 23. Suppose you are told that P is the price of the good, Q is the quantity of the good, TC is total

ﬁ;&W(’ cost, AC is average total cost, AFC is average fixed cost, and AVC is average variable cost.
Given this information and holding everything else constant, which of the following formulas
represents firm profit () correctly?

a.7m=Q*P - TC) T=TR-TC
b, 1= Q*(P — ATC*Q) T= P-@ —ATCQ@ rufer ot (@)
= Q*(P — (AFC + AVC)) retet ot Ch)

dm= QP — (AFC+AVC)*Q) e )
= * - .
(DT P-lreehy) (D T 0L T e ve] )

= &"P- Fe#ve) =@ -FC-ve _ but »
= P —(FCOT VC'CSD e TR - Zc_i/ Tc7Fe@tVe@
77"':, 772 ——FC@* (/C'@) .
24. Suppose you are given the following production function where Q is the quantity of output, L
/4 UTTLE is the number of units of labor and K is the number of units of capital:

ABSTRACT
Production function: Q= 2*L*K

Lt cpuesTioN
Ho7 O sEBoW M1 OTERA

—

Suppose that L and K increase by the same factor x such that the new labor input is xL and the
new capital input is xK. As a result, Q increased by a factor of 4. Given this information and
holding everything else constant, what is the value of x?

9—9@9
oo —

W=2LK
K= AR GEK)
G LX*LK
a'= x*[>LK]
Q' xta]
Q'= 4@ =xC

4ox®
2-X
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Use following information to answer next FOUR (4) questions.

You are given the following demand and supply curves where P is the price per unit, Qd is the
quantity of units demanded, and Qs is the quantity of units supplied.

Demand is given by: Qd =24 —P P » Y-
Supply is given by: Qs =P -4 P = 62 FY

25. Suppose the government implements an excise tax on producers in this market of $4 per unit
of the good sold. The graph below illustrates this excise tax where “ Supply ” is the initial
supply curve, “ Demand ” is the initial demand curve, and “ Supply’ ” is the supply curve after
implementation of the excise tax. Given this information and holding everything else constant,
which of the following answers is true?

prie Sueply T. p.
7\,_' S : F - @I' 3
LY —cp = +¥¢

16 B Ié = 2,@
14 q = CO

unit
4 B Demand
A 10 2(_, Quantity
v ; v v’ v
8 units:;, B = $16 per unit; C = $12 per unit; E = $8 per unit; D = $4 per unit

A=
A=8units"/B=$15 per unft>C = $11 per unit; E = $4 per unit; D = $2 per unit
A

A=

b:
c. A=9unitd B = $17 per unit; C = $13 per unit; E = $8 per unit; D = $4 per unit
d. 9 units* B = $15 per unit; C = $10 per unit; E = $6 per unit; D = $2 per unit
26. Given the above information and holding everything else constant, calculate the consumeftax
incidence (CTI) and the producer tax incidence (PTI). What percentage of the tax do consumers

pay?

@) s cri= (le-19) &) = 1k ooz L

b. 100% z

c. 0% _
d. 333% panq-/L) (f) = 16 52% !

-_—

Tort Tap lw=32 13



Sd nNe 27. Suppose the government decides to remove the excise tax of $4 per unit. The government
implements a new excise tax of $6 per unit. What is the difference in the deadweight loss
THovt HT between the excise tax of $4 per unit and the excise tax of $6 per unit?

a. The excise tax of $6 per unit increases the DWL by $9)§elative to the DWL when the excise

tax is $4 per unit.
@The excise tax of $6,per unit increases the DWL by $5 relative to the DWL when the excise

tax is $4 per unit.
c. The excise tax of $6 per unit increases the DWL by $16>{‘elative to the DWL when the excise

tax is $4 per unit.
d. The excise tax of $6 per unit increases the DWL by $14 relative to the DWL when the excise

tax is $4 per unit.

Dwl if tax e #V/U,q,}- = ‘é(/é'h/)(/owp): 44
5

T

S
2f = =29~ -
ﬁ"’f (Q'f/o a:"/() 2 C? '}/"(é/unlr*)(‘lo'?)—/}dllf

L P l=29-¢ VIR & fmi T
q -
[0 @=7 #-? =DWL/7‘M/7/$//WI7'
¥
A 28. Suppose the government wants to maximize total welfare in this market. Which of the

THOUG 4T following excise tax rates will the government prefer to implement in this market if this is the

government’s goal?
({ueirio

$0 perunit SMee dwit = %6 Ao A

b. $3 per unit

$5 per unit

The government finds that total welfare in this market is the same no matter which of these
three excise tax rates they implement in this market.

e

14



Use the following information to answer the next THREE (3) questions.

Amy earns an income of $90 and purchases only markers (M) and textbooks (T) with this income.
You are provided the following information:

(LR IS
=)

Price of a Marker = $3 per marker BL, 0z 3Mt G
Price of a Textbook = $6 per textbook f ; R M +217
Marginal Utility of a Marker = MUnmarker = T :
Marginal Utility of a Textbook = MUtextbook = M D ’ drrzadim ol M
Amy’s Total Utility = U =2MT Pm . M U~

PT MU M

32 _
6 - M

H’A—{&D 29 Given this information and holding everything else constant, which of the following statements
is true when Amy consumes her optimal consumption bundle?

a. The marginal utility of markers must be hx.gh‘e{ than the marginal utility of textbooks. X

(B) The marginal utility of textbooks must be higher than the marginal utility of markers. 1rue
c. The marginal utility of textbooks must be equal to the marginal utility of markers. X
d. The relationship between the marginal utility of textbooks and the marginal utility of markers

cannot be determined without more information. X
# 24! | Bo= T+2T
mUM - ,A,\Z_T 30 ~ 3T
5 6 MU= 3MVr = i
fm (r " N 1o f
W - MU [ MUn> sMUr| o= M
S 4 MUM“MVT

§o ME  30. Suppose the price of textbooks (T) decreases from its original level to $3 per unit while the
wWotK price of markers (M) remains at $3. Given this information and holding everything else constant,
what is the optimal consumption bundle (T, M) that Amy will now consume?

é(T’ M) = (10, 20)

(T, M) = (20, 10) . _

c. (T,M)=(25,5) Bl : Qo - 3IM+3T
d.

(T, M) = (10, 10) {30,,,/\4—1'5

= 15
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31. Suppose the price of textbooks (T) decreases from its original level to $3 per unit while the
price of markers (M) remains at $3. Which of the following statements is true about Amy’s
demand for textbooks given this price change and holding everything else constant?

a. Amy’s substitution effect is negativexwhile her income effect is positive.
b. Amy’s substitution and income effects cancel each other out exactly: Amy’s consumption of
the textbooks does not change. X’
. Amy’s substitution effect is positive‘évhile her income effect is negat)i<ve.30
my’s substitution effect and income effect are both positive.
Abpeh: Up=200 |
s S Ue = 2MyTy =200 AhC@@"r o |2 ~
AbptC Uc 3 buws R
15 =100 /7] F\MI/ ] U‘v, i 1
33 e [ s 0 e 30 T
2M3=Ts i 15

32. Which of the following groups listed below benefit more when a country moves from a

A
closed economy to unregulated open trade? M3 (2 M 3) - 100 Ch B; Y ]ijT
Ay amea
a. Domestic Consumers in this country M'3 ~ ‘??— ~7.0 q IWVW”‘CT =)
b. Domestic Producers in this country M 3 z 1419 @ Ve < ﬁ(
c. The Government of this country Tz =aMy~ 1T :

You cannot determine which group benefits from this change unless you know the world price

of the good and the closed market equilibrium price for the good.

Use the following information to answer the next three (3) questions.

Demand and supply in country X are given by the following equations where Q is the quantity of
units of the good and P is the price per unit of the good:

Domestic Demand: P =100 - Q
Domestic Supply: P=10+Q
World price: Pw = 30

33. Suppose that country X opens this market up to unregulated trade. Given this information
and holding everything else constant, which of the following statements is true?

3. Country X will export 50 units 4 '_ §MW\
ountry X will import 50 units j60
¢. Country X will export 25 units
d. Country X will import 25 units
ry p /0 pr, C/
30 7;
0+ | L O\ Do
o1 1 -0
20

D 3,
& >80 /"?’7‘:/,7/ 2, 107
Z ki Qoo Qoo

m ot The P vpet 16
L ogprencs
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34. Suppose that country X opens this market to trade while implementing a tariff that raises the
price by $25 per unit of the good. Given this information and holding everything else constant,
how many units will be imported when this tariff is implemented?

e - L Shom

a. 45 units - ][ /) = Y =) CQ — 5

b. 25 units ’ S 5- ffﬁwﬁf
20units ny 55 |o— — = | / :
) units wrav

30 { : don——-
/ oo- @@ < ] Or @ , ! =
G0~ >0 v f5
=
4@ Pwt eloed © AWLWI’ZZ
35. Suppose that country X opens this market to trade while implementing a tariff that raises the P

price by $25 per unit of the good. Given this information and holding everything else constant, # 20 omi

what is the deadweight lcl)s/s due to the imposition of this tarift? 5ud Fu/.‘r% (ym’ 4
14)(25)(50) dollars o

b. (%)(10)(50) dollars X BWL= f (55 -3V )(-)'O'W)

c. (¥5)(25)(25) dollars X W - §

d. 0 dollars X = £ (%) 0)

Use following information to answer next THREE (3) questions.

A firm in perfect competition has,following cost structure where q is the number of units of the
good that the firm produces:

Total Cost: TC = g2 + 50q + 49
Marginal Cost: MC = 2q + 50

36. Given the above information and holding everything else constant, what is this firm’s fixed
cost (FC) when the firm produces two units of output?

a. FC=§24.5
b. FC = §54
c. FC=3§153

C =849
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37 Given this information and holding everything else constant, what is this firm’s shut down

/ "farice in the short run (P shut-down) and what is this firm’s breakeven price in the long run (P

break-even)?

c. P shut-down = $60 and P break-even = $57
d. P shut-down = $7 and P break-even = $74

% =&*
@ shut-down = $5(f€.nd P break-even = $64 ve= 2 -l
b. P shut-down = $64 and P break-even = $50 A= # S0 = j t 50
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38. Assume there are 4 identical firms in the market. Market demand is given by the following
equation where Q is the market quantity and P is the price per unit of the good:

Market Demand: Q =80 — P D 7 f - 5’0 3 @

Given this information and holding everything else constant, what is the short-run market
equilibrium quantity and price?

Q=48§ =$76‘/
bQ = 20 P = $60
c.Q =4Q'P =$525
d.Q =4,P = $76

P M (50
L;Q‘I"' . (‘ ?ﬁl«ﬂ%
y, :




50 M € ,}9. The table below represents Martin’s marginal utilities (MU) for doughnuts and cans of soda. Suppose
ﬂby[,h"/ the price of 1 doughnut and 1 can of soda are the same and that Martin’s income is $6. Given this
information and holding everything else constant, how many doughnuts and sodas will Martin consume?

Quantity of | MU of an Quantity of cans of MU of an
doughnuts | additional soda additional can
doughnut of soda
1 15 I 18
2 14 2 16
3 (1) 3 11)
4 7 4 4

a. 1 doughnut and 1 soda
2 doughnuts and 2 sodas = (/ o4
c)3 dgﬁghnu:z and 3 sodas /WM o 2 /92‘,,4,\
d. 0 doughnuts and 2 sodas /‘OWM 5
ngﬁnuf: /99-/‘“'(‘ﬁ
3 Losh ot dable D 3 Dghrt P T hednd
e SR

6M\{ 40. Which of the following statements is true about perfect competition? P
s Sn w{’

in the long run.

a. The minimum AVC is the price at which the firm b

b. The minimum ATC is the price at which the firm skuts down ir’the short run. X

c. The AFC intersects MC at the AFC’s minimum. X/ S Wg even
The AFC decreases as the quantity produced increases‘/

f > Fhe AFChatns mbrhme

AFC

X
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